TENSAEEE A ek KA

AL 92 A RIS A i AR | puE4 FiE RE
&5 A Bl | R4 | i BRG] N FAEGER
BRI E LR 4 wom B
BT R " R
AT EL 1 2 3
B B A R PR e R« R B
B O EGE 2 2
Sk 2 2
. AL E R 3,4 1 2 2 2 2
S ERE 3 2 1
IR 3,6 3 2 3 1 1
* S A [EEE 0,2 (2)
HERE 2 2
HERGRS 0,2 2 2
ik ey 2 2
i A A S RE 0,6 — 3
R P 0,6 - =
* H A HRFSE 0,2 2
s SRR 0,2 =
AR Ak 2 2 2
BUIE - 8 0,2 2
BE 1 3 3
P Call 4,6 4 4 (2]
- 4;5(:{111 4 4
A 2 2
$+B 0,2,4 2 2] 2
$HC 0,2,4 — 2 2 4
W PRI 2 2
Ll 0,6 3 -3
(b Al 2,3 2 3
piip == 5 5 5
AW HahiE 2 2
£ 0,6 - =
* BEBHR G A7 0,2 (2)
T & 7 2 2 2 3 3 3
PRAEE 2 1 1 1
EE 3! 0,2 )
- %;%‘%11 0,2 [2]
ES T 0,2 -
ES ! 0,2 [2]
BFEaz—vay 1 3 3
YEFER 2= r—vav 1l 4 4 4
PFERazr—var Il 4 4 4 4
SMERE AmER- KB 1 2 2
A - BT 2,3 3 2
A - R BLIT 3 3 3 3
Sk R 0,2 —
FHE FHEFAE 2 2
15 R 1 2 2 2
mF A OB ERALELGE 85,87 29 29 29 27,29 29 29
FE |7y 0,2 [2]
TESECRDEL B OB & AT G 0,2 0 0 0 0,2 0 0
N7 AR R IR DR 1 1
PRIEOIER INAK AL 2 1 1 1 1 1
JBIE A A G 90 30 30 30 30 30 30
A= — NIEB) O 2 72 DL Y REEL 3 1 1 1 1 1 1
MoK 6 6 4 2 4 1 1
D1 AL g il
504y 25




